| Efficiency vs Dxy |
0.2
<

A A
B 18t TR b (TR - .
Z b b N
NN .

.(D - H H H H H H H H H
KT e S A A S S S S S
© o : : : : : : : :
O e S S A S S
R S e e s o e
008+t
i o e e e o

.7 R 0 ot o s
00

OJ-.l,O_IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII;IIII

Rati

098 56-15-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__ Global__mkFit100Timeo__RECO

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__mkFit100Time__RECO

N 0.5
= H H H H H
D.45F - Feeeeeeeees Beefeeeee RRREE frreeeeseen e
> 5 5 5 5 5
e o e

o : : : : :
.35 o (R R A A
()] : : : :

A6 N N S
S
R By 70 /[
0.5+ AV
O e o 4 B S S

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


